An Inconvenient Truth

Complete the following questions as you watch the movie.  Follow up by discussing your answers and opinions.

1. What is the most vulnerable part of the Earth’s ecosystem? _____________________________ 

2. Why is the atmosphere so vulnerable?  ______________________

3. What happens to the sun’s solar energy to cause Global Warming? _______________________ 

4. What did Roger Revelle try to measure in 1957 using weather balloons over the Pacific Ocean? ________

5. When is there is more CO (Carbon Dioxide) in the Earth’s atmosphere?  (circle one)

a. Northern summer

b. Southern summer
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Glaciers around the world are disappearing due to global warming.  What percent of the 

world’s people depend on these glaciers for clean drinking water? ________

7. Core drill samples in ice can be used to show a history of what?    ______________ 

8. When there is more CO in the atmosphere, what happens to the temperate?  _______

9. Continue the line graph of the CO levels over the last 650,000 years (seven ice ages).

10. According to historical evidence of CO levels and global temperatures, what do expect will happen to the temperature of the world over the next 20 years? _______________________

11. The 10 hottest years ever recorded happened over the last _____ years.  

12. When oceans get warmer, what happens to storms and hurricanes? _____________________________

13. Warm water in the Golf of Mexico turn Katrina from a category 1 hurricane to a category ______   

“We are entering a period of consequences”

14. True or False: 

a. Global Warming can be responsible for both severe rain, and severe drought (lack of rain).  
T / F

b. Global Warming increases the amount of evaporation on oceans and on the ground.
   
T / F

c. The Arctic ice cap has diminished by 25% over the last 40 years.



T / F

d. An average global temperature increase of 5 degrees means +1 at the Equator but +12 in 


the North Pole. 









   
T / F

e. The melting of Greenland could change ocean currents and create colder weather in Europe.
T / F

f. The melting of the ice on west Antarctica or on Greenland would increase the global sea


level by 20 feet.  

  
  






   
T / F

g. The change in sea levels could mean a global situation involving100,000,000 people 


without homes.









  
T / F

h. Making changes that benefit the environment will have a negative effect on the economy.
T / F

i.  U.S. auto companies do not meet Chinese environmental standards.



T / F

15. What choices can you make to reduce your impact on Global Warming?  Write these choices down 

in the space below.

Kerry Dyke

International School of Bangkok

www.climatecrisis.net
